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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
Answers are to be given on the answer-sheet, which combines both the
tests : :

Please write your Centre Code and Seat No. very clearly (only one digit in
one block). Before writing your Seat No. get it ascertained from the Centre
Conductor. Please see that no block is left unfilled and even zeros appearing

in the Centre Code and Seat No. are correctly transferred to the appropriate
blocks on the booklet and on the answer-sheet.

Example :

CENTRE CODE &g daais| M| H

SEATNO. smwiwi® (313|917 |

For all subsequent purposes your Centre Code and Seat No. shall remain
the same. Centre once allotted will not be changed.

All questions carry one mark each.

Since all questions are compulsory do not try to read through the whole question
paper before beginning to answer it.

Begin with the first question and keep on trying one question after another
till you finish.

If you do not know the answer to any question‘ do not spend much time on
it and pass onto the next one. Time permitting you can come back to the
questions which you have left in the first instance and try them again.

Since the time allotted is very short you should make best use of it. The rough
work is to be done in the box given under each page.

Remember you have to mark on your answers in “Scholastic Ability Test”
section of the answer-sheet only. '

Answer to each question is to be indicated in the answer-sheet by encircle
by black pen in the appropriate number of alternative in the answer-sheet
from amongst the ones given for the corresponding question in the test booklet.

Do not write anything except Centre Code, Seat No. and rough work anywhere
in this booklet. : :

Now turn to the next page and start answering the questions.
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“SCHOLASTIC ABILITY TEST

Which one of the pairs is incorrect pair ?
(1) Dry celll—Leélanche’s cell

(2)  Simple cell—Volta’s cell

(3) Bﬁtton cell—Lithium cell

(4)  Nickel-cadmium cell—Rechargeable cell

Identify the symbol/sign of Electric cell :

&) ' @) L

3) @ @ g

Where does the poles of disc magnet lie ?

(D) North-south (2) East-west

(3)  Circular, back and infront (4) . Circular, on periphery

The walls of dam are broader at base, because :
(1) - Preventing the flow of water
(2)  Atmospheric pressure is acting on surface

(3) It avoids evaporation of water

(4) The mass of water is greater at bottom that exerts pressure greater

pressure on wall

SPACE FOR ROUGH WORK
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Ink filled in droper doesn’t fall till the bulb is not pressed, because :

(1)
(2)
(3)

(4)

(1)

3)

W
@)
3)

(4)

ink sticks the droper
atmospheric pressure and ink pressure are same
atmospheric pressure is greater

ink pressure is greater

..... is not a unit of energy.

Dyne k@) Hirg

Joule | : (4) Calorie

Image formed by plane mirror is ............

Erect, virtual, as big as object
Inverted, real, enlarged as object
Erect, real, as big as object

Inverted, virtual, as big as object

SPACE FOR ROUGH WORK
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Whﬂé obtaining atomic energy .‘ ............ takes place.
1) Nuclear fusion (2) Nuclear fission
3) Oxidation : (4) Reduction

If bar magnet is cut at the centre as shown in diagram, then in newly formed

magnets the poles A, B, C and D are seen. Find out the correct poles from

the given options.

A B C D

(1) A—South Pole, B—North Pole, C—South Pole, D—North Pole
'(2) A—North Pole, B—North Pole, C—South Pole, D—South Pole
(83) A—South Pole, B—South Pole, C—North Pole,-*:D—North Pole

4) A—North Pole, B—South Pole, C—North Pole, D—South Pole

10.

11.

12.

Which one of the following planets doesn’t have moon ?
(1) Venus ' L) Jui)iter
(3) Earth ‘(4) - Saturn

We can see only one si‘de (surface) of moon, because :
(1) Moon is satellite of earth

(2)  The rotational and revolution period of moon is same

(8) Moon rises 50 minutes later consequently days

. (4)  Moon has its phases

With respect to virtual image which one of the following is wrong

statement ?
(1)  Virtual image is erect

(2) In virtual image the sides are changed

- (3) Virtual image can be obtained on screen

(4)  Virtual image is assumed to obtain behind reflective surface

SPACE FOR ROUGH WORK

SPACE FOR ROUGH WORK
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13. If 3 N force is applied on a surface the pressure observed is 2 N/m?, then

find the sq. m. area on which force is acted ?
1) 1sq m (2 15 sq. m.
3) 2 sq. m. ‘ 4) 2.5 sq. m.

14. In water molecule the valency of hydrogen and oxygen

“are :
1 1and 2 | 2) 2 and 1
(3) 1 and 1 (4) 2 and 2

atoms respectively

15. Carbon has 2 isotopes }fC . é‘iC. The number of protons and neutrons in the

nucleus are ..............

(1) é2C-—>6pv+ 6n, ¢C — 5p +9n
2 2C—o6p+6n, gCo>Tp+Tn
bt o —'9‘6p +6n, 'C—6p + 8n

4 2C—6p+6n, ¢C—8p+6n

SPACE FOR ROUGH WORK

16.

17

18.

(3) Calcium (4)

(1) White to blue (2)  Green to white

(3) White to green - (4)  Blue to white

In the following chemical reaction, what is X’ ?

Vegetable oil ___‘X’_> Hydrogenated oil
Catalyst

(1) Iron (2) Raney Nicke_l

Nickel chloride
Melting point and boiling point 6f iron respectively are :
(1) 1535°C and 2750°C (2)

2750°C and 1535°C

3) 0°C and 100°C (4) 100°C and 0°C

i When CuSO, is heated strongly, the colour of the salt changes as :

NMMS-MS-SAT | VIII| S15
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19.

20.

From the ﬁgur’eb of the fracfional distillation, find out A, B and C :

=— Petroleum gas

—» Petrol 40°C to 70°C

Mineral Oil
(Heat) g

(1) Naphtha, Diesel, Kerosene

(2)  Naphtha, Kerosene, Diesel

.£3) _‘Kerosene, Diesel, Naphtha

(4) Diesel, Naphtha, Kerosene

18 carat gold consists of .............. % of gold.
(1) 75 (@2 50
8 .:100 " 4) 918

P }Other substances 300°C to 400°C
—*

:: }Residue 400°C and higher i

SPACE FOR ROUGH WORK
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21.

22.

23.

In solar cell the non-metal used is :
(1_) Silica . (2) Silicon
3) Phosphorus 4) Sulphur

Fullerene is one of carbon allotrope, the number of carbon atoms present in

18 :
@ 12 : | ) 30
@) 60 | 4) - 80

Salt X’ commonly used in Bakery product as well as in fire extinguisher.

On heating it gives another salt Y and a gas ‘Z’ is evolved, which when passed

through lime Watef turns it milky. Identify X, Y and Z.

X’ h ‘Y A
(1)  Sodium b.icarbonate~ Sodium cafbonate Carbon dioxide
(2)  Sodium carbonate Water Carbon dioxide
‘(3)- - Sodium carbonate Sodium chloride Carboﬁ dioxide

(4) Sodium bicarbon_ate Calcium carbonate C_arbon dioxide

SPACE FOR ROUGH WORK
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- 24.

25.

26.

The temperature required to decompose the KClOg into oxygen is

) A00°0 -, - AT) - 008

@3) 300°C 4)  800°C

Metallic oxides are ..............
(1) Basic (2)  Acidic

(3)  Neutral (4) Both Acidic and Neutral

 The molecular formula for sodium sulphate and sodium nitrate are

respectively :

(1)  NayNOg and Na,SO,4

(2) Na2SO4 and NaNO3

(3) Na(NOg)y and NagSO,

4) Na(SOp, and (Na),NOj

SPACE FOR ROUGH WORK
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27. Which is the important necessity of human being other
necessities ?
(1) Food (2)  Clothes

3) Shelter : 4) Medicines

28. The virus has a covering of ................

(1)  Proteins : ) " (2) Carbohydrates
(3)  Cellulose 4) Fats
L 29, . The Ll nnn controls all the functions of the cell.

(1) Mitochondria
(2) Nucleus
(3) Vacuole

4) Cell wall

than basic

SPACE FOR ROUGH WORK
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31,

32.

................... bacteria are likely to grow in canned foodstuffs after their date -

of expiry.

(1)  Penicillium

(2)  Streptomyces

(3) - Clostridium

(4)  Azotobacter

In which disease the patient fear of water (Hydrophobia) ?
(1)  Rabies (@) Tibersulosis (TBY
(83)  Typhoid : (4) Polio

B.C.G. vaccination is preventivg measure of disease :

1) Tubercﬁlosis (T.B.) | (2) Rabies

3) Polio (4) Cholera

SPACE FOR ROUGH WORK

33.

35.

| R e disease the resistance acquired . the first time is ‘1ifelong.
(1) Cholera (2)  Chickenpox

3) Typhoid (4)  Enteritis
ceeeeneenen. 801l has the greatest capacity to hold water.

(1) Sandy | - (2 silt

®  Clayey i " (4) China clay

If soil erosion is arrested, soil is conserved. This is called ...........

(1) Water conservatibn (2) Conservation of forest

3) Soil conservation (4) Landslide

NMMS-MS-SAT | VIII| S15 52 of 80
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36.

. 37.

38.

Which plant should be planted for energy fari_ning ?
(1) Cotton | ' (2) Mango
(3)  Hibiscus 4)

Jatropha

.............. are grown for their fibre to make yarn.

(1) Serpentina. = ' (2) Hemp
| 3) Gulvel | 4) Asparagus
Cords made from thie i of an?mals are used to stitch cuts made during
surgery.
(1) Bones ' @)  Gut (intgétine)

(3)  Skin i » (4) Hair

SPACE FOR ROUGH WORK
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39.

40.

41.

................. variety of cow from Maharashtra have been selected for cross breeding

at the national level.
(1) Jersey 2 Holstein
(3) Red Dean (4) Dangi

Identify the correct sequence of life cycle of silkworm :

(1) Egg — Larva —» Pupa — Imago

(2) Egg — Imago — Larva — Pupa

- (8 Egg — Larva — Imago — Pupa

(4) Larva — Egg — Imago — Pupa
The first country in the world to have a written constitution iS ........... ,
France

(1) England - (2)

3) America 4) Russia

SPACE FOR ROUGH WORK
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43.

The naval ratings in Mumbai laid down their arms after the mediation

(1) - Sardar Vallabhbhai Patel - (2) J awéharlal Nehru

(3) Subhash Chandra Bose (4) Maulana Abul Kalam .Azad
In 1853, Kawasji Nanabhoy ................

(1)  Started Jute mill ip Bengal

(2)  Established Iron and Steel Company iﬁ Jamshedpur

3 Cemeﬁt Industry was started |

4) Starfed First cotton textile mill in Mﬁmbai

Arrange the following in chronologicv'lallorder :

(I)  Strike of Mill Workers’ Union in Mumbai

(I) Foundation of Bahishkfit Hitkarini ‘Sabha _

(ITI) Foundation ;)f All India .Women’s Conferen;:e

(Iv) Establishmént of fhe Communist Party in India

(1 (@D, dID, dn, aAv) : (2 D, av), am, @

® D, @, D, av (4) (D, (D, M, V)

SPACE FOR ROUGH WORK
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45. Identify the incident in which the personal in the picture is associated :

46.

(1)  Non-cooperation Movement (2)

Dharasana Satyagraha

(83) No-tax Movement - (4) Individual Satyagraha
Which one of the following is not an extremist leader ?

(1)  ‘Aurobindo Ghbsh = (2) Lokmanya Tilak

3) Bipin Chandra Pal AL (4) Dadabhai Naoroji

SPACE FOR ROUGH WORK '
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47. The Cabinet Mission did not consist of
(1) Stafford Cripps it (2) Lord Wavell
()  Pethick Lawrence (4)  AV. Alexander

48. Who does not belong to the Yadavas dynasty of Maharashtra ?
(1) Ramchandradeo (2) Seunchandra
(3) Chandradeo (4)  Bhillam V

49. Write the correct alternative :

(D Shridhar Vartak SR (A) Liberation of Goa Samiti

(II) Qasim Razvi ' (B) - Princely State of Junagad
(II) Dr. T.B. Kunha (C) Goa Youth League

- (IV) Siraj-ul-Hassan (D) Kashmir Problem
Q) O—A) @ a—®

3) IID—C) , 7 4 dIV)—D)

SPACE FOR ROUGH WORK
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To make the national movement stronger in the rural areas who undertook

50.
a constructive programme ?
(1) Mahéfma_ Gandhi (2) Motilal Néhru.:
(3) Krantisinh Nana Patil (4) Rabindranath Tagore

51. Which Maratha Sardar defeated and dashed upto Ahmadébad iln
Gujarat ?
(1) Nemaji Shindg (2) Khanderao Dabhade
(3)  Vithoji Chavén (4) Dhanaji Jadhav

52. Which revolutionary did not kill self in the revolutionary movement ?
(1) Prafulla Chaki (2)  Pritilata Waddedar
(3) Kalpana Datta | (4) Vanchi Iyer

SPACE FOR ROUGH WORK
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53. Which organization was not formed to inculcate the love for their nation in

the minds of the children ?
(1) Lal Sena ; (2) Azad Sena
3) . Toofan Sena : 4) Rashtra Seva Dal

54.  After which session did Gandhiji give full powers regarding the launching of

the Civil Disobedience Movement ?
(1) Nagpur | i (2‘) Surat
(3) Mumbai ; ‘(4)~ - Lahore
55. To which place did the uprising of 1857 not spread ?
(1) West Bihar | (2) Bengél

(3) Allahabad (4)  Rohilkhand

- SPACE FOR ROUGH WORK
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56.

57.

‘Which of the follo&ing landlocked sea has the least salinity ?
(1) Mediterranean Sea | (2) Red Sea

(3)‘ Baltic Sea (4) Caspian Sea

Name the animal in the picture given below :

(1) Camel ' : (2) Lama

(8) Jaguar V ' (4)  Gwanako

SPACE FOR ROUGH WORK
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' 58. Distribution of which type of soil is not generally shown in the world - 61. Find the wrong pair :

map ? ; ’ : (A) Rio-de-Janeiro =t First Earth Summit
(B) Alexandria — Trade Centre of Egypt
(D) Zonal Soil (2) Azonal Soil _
| (C) Dar-Es-Salaam — The old Capital of Tanzania
3) Intrazonal Soil (4) Desert Soil ‘ '
: | (D) Kimberley - — Port in South Africa
59. Physical features of which group are not formed due to erosiqn 7 { (1) (A) - - AN Q) (B)

(1) Cirque — Matterhorn — Hanging Valley @ (© @ @O

62. The veldcity of glacier is very slow because :
(2) Gorge — Plunge Pool — “V’ Shaped Valley -

(1) It is in solid state
(8)  Deflation Hollows — Mushroom Rock — Yardangs
: (2) It has flow

) Morsing -4 Dttglms 3 Tohes (3) There are many obstacles in its way

60. Which of the following is the highest peak in Australia ? (4) It is in liquid state
, 63. The rocket used to launéh 10 satellites simultaneously of India was ..............
(1) Bruce - (2) Mount Kosciuszko : '
| ' (1) PSLV-C9 (2 PSLV-C10
3) Zeil (4) Bartle Frere .
: (3) PSLV-Cl1 (4) PSLV-12

‘SPACE FOR ROUGH WORK»‘ e - SPACE FOR ROUGH WORK
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66.

(1) - Henty Ball . @)

The river from Germany useful to transport the minerals found in Black Forest

Region is :
(1)  Weser : (2) Danube
3) Elb (4 Rhine

The sailor who started the expedition to the continent of Antarctica was :
vJames Cook

(830 Ronald Amundsen 4) Sir Random

Which of the following countries is not included in ‘SAARC ?

(1 r Maldives | (2) /. Bheitan

3) Myanfnar . (4)  Bangladesh ‘

SPACE FOR ROUGH WORK
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67.

68.

Small size of farm, limited mechanisation, maximum use of human and bovine

resources, these are the characteristics of which type of agriculture ?
(1)  Extensive Agriculture (2) ’ Intensivé Agriculture
(3) Plantation Agriculture (4)  Shifting Cultivation

In the giVen figure alphabet ‘D’ represents :

Abiotic Biotic.- Component
Component v : h '
e / e
1 | Water \5: SIS 4 ‘ i
: i
h | [Carbon| 4 » : ' e
f, dioxide / o :

e S /
J A 4
Land/Soil [€ - L
Autotroph . ,Hetérotroph
(1) Primary Consumer ~ (2) Seéondary Consumer

(3_) Tertiary Cénsumer _ (4)_ Producer

SPACE FOR ROUGH WORK
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69. As we move from surface to the centre of the earth'change’s téke place, then

.70,

find the wrong statement ;&
(1)  Density increases ‘tdwards the centre
(2) . As we move from core to mantle temperature increases

(3) The primary earthquake waves travel through all layers of the interior

of the earth

(4)  The process of -cooling of earth started from surface

What type of weathering is shown in the given figure ?

(1)  Mechanical weathering - (2)  Chemical Weatheriﬁg

(3)  Biological Weathe’ring  (4) Bio-chemical weatherihg

SPACE FOR ROUGH WORK
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72.

73.

(3)  Dr. Rajendra Prasad

- Who Was‘the head of the interim government on 7th September 1946 ?

(1.) _ i’andit dJ awaharlai Nehru (2) Sardar Vallabhbhgi Patel
(4) Maulana A.bul. VKalam Azad
What was dgcided in- 1972, conference organized at Stockholm ?

(1) To prevent smuggliﬁg of drugs~ ,

(2) To frame rules and regulation fo‘r international peace

(83) To discuss aBout global warming -

(4) ~ To finalisation of the environmental programme

.................. is considered to be an important forum for discussion on international

questions.
(1)  General Assembly (2)  Security Council
(8)  Secretariat ' (4) Economic and Social Council

SPACE FOR ROUGH WORK
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74. Which voluntary organization is working for Human Rights at International

75.

76.

level ?

(1) UNESCO (2)  Red Cross

3) United Nations Organization (4) Human Rights Watch

The biggest challe‘nge: before India’s security W

(1) Border Crisis _ : - X2)-. Religioué Issues

3) Terrorisfm T 7 (4) Regiqnal Issues

Which coﬁntriesv face iimitatiof{s while framing theif ir;depe-rldent foreign
policy ?

(1) Size of the country is big' (2). VMilitaI"‘ily weak couﬁtry

(3)  Low pepulation (4)  Militarily strong nation

SPACE FOR ROUGH WORK
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78.

79.

............... helps to reduce the gap between the rich and poor nations.

(1)  Globalisation : (2) International Cooperation
(3) - Trade | ’ (4)  Political relations
Once theAPalau Island became independent, ........... was dissolved.

(1)  Trusteeship Council

(2) - International Labour Organization
(3) International Atomic Energy Agency
4) Cultural Organization

The Union Government has made an Act to protect women from domestic

violence as per the Act of R

(1) 2005 - (2 2006

3) 2007 ¢ (4) 2008

SPACE FOR ROUGH WORK
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80. The office of the International Court is situated in which country ?

(1)  England

3) Netherlénds

81. The sum of cubes of two nai_;ui‘al' numbers s 793. Find the suin of the cube-

root of those two numbers.

B, i

3 13

(2) America

(4) France

o k2) = 12

4 "14

82. If 4% =1, then find the value of x2 + y2 + 2xy.

1 o0

@ 2

2 1

A e
¥

SPACE FOR ROUGH WORK
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4 4 4 “4‘

Find the perimeter of an square whose diagonal is 16 cm.

83.
(1) 32 em
@ 3242 cm
3) 64 cm
@ 6442 cm

nufnber out of these five numbers.

(1) 40

3) 43

@y 48

4) 55

The average of x — 3, 'x, x+ 3,x—6 and x + 6 is 49. Find the smallest
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1 ‘ :
85, X< '; If x = 100, y = 04, then find Y’ when x = 8.

@) - 45

1) 05

2 04

@ 4

4 5

! . 2025 x45+1
58 - aB el

1) 46

(2) 47

3) 44

SPACE FOR ROUGH WORK '
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87. 1In the following figure mZABC = mZACD =90°, AC

BC = 12, then find A((] ABCD).

= CD and AB = 9,

(1) = 233 sq. units
(2) 279 sq. units
(3) 220.5 sq. units

(4) 166.5 sq. units

- SPACE FOR ROUGH WORK
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88.

89.

90.

The circumference of the wheel of a bullockcart is 4.4 m. How many revolutions

will the wheel con’ipiete to cover distance of 2.2 km ?
1) 1000 | (@ 500

3 250 iy ek R

A solid metallic sphere is melted. 512 solid spheres of 1 cm radius are prepared

by melting the sphere. Find the radius of the original solid sphere.

oo d M A 2 7 cem

3) 8 cm . Uy 4 4 cm
The value of a machine is ¥ 60,000. EVery year there is depreciation in the

value by 10%. Find the value of the machine in the third year.

(1) 43,740 S

(3) ¥ 53,740 (4) T 43,470

SPACE FOR ROUGH WORK
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91.

92.

. Find the sum of additive inverse and multiplicative inverse of 2’ ? _

E 3
@)) 2
2 i
(2) 2

1
bR

.
e

If x™ — y" is divided by x2 — y?, we get the remainder zero. Find the value

of ‘n’.

(1) ‘n’ as an even number |
(2) ‘n’ as a prime number
(3) ‘"’ as an odd number

4) ‘n’ as a natural number

SPACE FOR ROUGH WORK
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93. The difference between two natural nﬁmbers is 72. If greater number is divided

by smaller number, the quotient is 5. Find the smaller number.

1 24
(2 18
3 8
4 9

94, Find the value of (a + ) x (@ — b) x (a® + b?) :

Q) g e Lg%~ b

(2): at+ b
@) ot -5
@  (a-b*

SPACE FOR ROUGH WORK
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95. The measurements of the opposite aingles of a cyclic quadrilateral are (x + 10)°

and (x + 20)°. Find the dif‘ference_-in' the measurement of the angles.

(1) 30°

@  20°
@ 10°
@ 5

06, - If 30" ler = os find the value of % £

1 5
» L
(2) 1
@ 1
(4) 2

5)

SPACE FOR ROUGH WORK
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97.

98.

Chord PQ of the circle with cegt_re ‘Q’ ;s at}di‘stance ‘d’ from ‘O’. If the radius
of the circle is 7, find the 1ength Qf the chord PVQ.

D r2-g @

3 2m | A (4) xr = d)°

Which.of the following statements about monomial is false ?
(1)  The polynomial having one terfn_. is called monomial
(2)  The degree of the monoﬁi‘ial ‘0’ can be determined

(3) The degree of a non-zéro constant polynomial is zero

(4) .‘8y’ is a monomial

SPACE FOR ROUGH WORK
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99.

~ 100.

Sampatrao sold his house through an ageﬁf. The price of the house was

finalised at ¥ 4,50,000 and he h-ad-t,o pay a commission of 2%. How much

v

money did he actually get on seiling the house ?
(1) 4,569,000
(2) T 4,41,000
@) 7 450900
(4) ¥ 4,49,100

Point ‘P’ divides seg AB in two parts. If AP=175 cm and PB = 12.5 cm, find

the ratio in which point P divides seg AB.

(d)y: g5
(2) b:3
8y ¥ gt
(4) 2:3
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